RFM Loan Exploration: Initial Scenario
Taking a loan of $80,000 from a bank offered at 3.6% p.a. (compounded monthly).

balance after the first six months of
repayments. [Ans: $76,614.70]

Question 1 Fi"":'ﬁ:v" ol
What is the monthly repayment for this oo [38 O
loan? PV: [80000 [»]
[Pmt:]| 5794.83995418414] [»]
Fv: [o ]
Ppy: | 12 =1 .
tvm.n, i.ml\‘.l' .ijn‘.‘;ﬂ.”. 'hvv‘\“; ’n‘w‘:,h:”
Question 2 - = il B
Express the life of this loan as a recurrence 1f .
relation (make repayment $800/month). e
[Ans: V,+1=1.003 V, — 800, Vo =80,000] {o,80000} {0,80000}
{ans[1]+1,1.003- ans[2]-800 }|
Question 3
Use this recurrence relation to find the loan

<EER» *Doc rap [l X

{{3,78314.95496 }[1]+1,1.003- { 3,78314.9
{4,77749.8998 }

{{4,77749.89982488 }[1]+1,1.003- { 4,777
{5,77183.1495 }

{{5,77183.149524355 }[1]+1,1.003- {5,77»
{6,76614.699 }

Finance Solver info stored into

tvm.n, tvm.i, tvm.pv, tvm.pmt, ...

N *amortloan *amortloan
Question 4 2 Pome B
. amorzloano
For the first six months, calculate the: sum(nteress) 14147
. Loan value ($) = 80000
a. Total Interest paid [Ans: $1414.70] Interest rate (% pa) = 3.6 80000-balance(6) 33853
b. Principal reduction [Ans: $3385.30] = Paym;“'s wshow - 6 sum(prinreduce) 33853
Payment (§) = 800
c. Percentage of the repayments that CoyiPpy = 12 % 100 20.4729
pay interest [Ans: 29.47%] "n" "pmt" "int" ‘pred”  “bal" e
0. 0. 0. 0. 80000. | =
Question 5 Finance|Solver e KK *Doc rap [l X
. N: [ 120. 4 800-744.0049371992 55.9950628
What will be the final payment? oo [38 ]
[AHS: $56.00] PV: [80000. [»]
pmt: [-800. ]
[FV:][ 7440049371892 [»]
PpY: | 12 I%' =

Question 6
How will the total time to repay the loan be
affected by the following variations:
a. Paying an extra $100/month
[Ans: 8.63 years]
b. Paying half of $800 each fortnight
[Ans: 9.01 years]
c. Aninterest rate hike from 3.6% p.a.
to 7.2% p.a.?
[Ans: 12.76 years]
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